
Cone Surface Area

Slant height (s)
𝑠 = 5 𝑐𝑚

3 cm

𝑆𝐴 = 𝜋𝑟ଶ + 𝜋𝑟𝑠
𝑆𝐴 = (3.14)(3)ଶ + (3.14)(3)(5)
𝑆𝐴 = 28.27 + 47.12

𝑆𝐴 = 75.40 𝑐𝑚ଶ

𝑆𝐴 = 24𝜋 𝑐𝑚ଶ

Net Area

3 cm

ℎ = 4𝑐𝑚

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

3ଶ + 4ଶ = 𝑐ଶ

 9 + 16 = 𝑐ଶ

          𝑐ଶ = 25

            𝑐 = √25
⎯⎯⎯ 

             𝑐 = 5
3

4
𝑐

𝐴 = 𝜋𝑟𝑠

Pythagoras (Same as Above)

ℎ = 4𝑐𝑚
5𝑐𝑚

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

3ଶ + 𝑏ଶ = 5ଶ

  9 + 𝑏ଶ = 25
  −9           − 9
         𝑏ଶ = 16

      ඥ𝑏ଶ
⎯⎯⎯ 

= √16
⎯⎯⎯ 

          𝑏 = 4
𝑏

3
5

3 m

ℎ = 4 𝑚

𝑉 =
1

3
⎯⎯× (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × ℎ

𝑉 =
1

3
⎯⎯× (𝜋𝑟ଶ) × ℎ

𝑉 =
1

3
⎯⎯× ൫(3.14)(3)ଶ൯ × 4

𝑉 = 37.7 𝑚ଷ

𝑉 = 12𝜋 𝑚ଷ

𝑉 = 𝜋𝑟ଶℎ

Cone Volume

𝐴 = 𝜋𝑟ଶ

s

s s

s s

Sphere Surface Area and Volume

5 km

𝑉 =
4

3
⎯⎯𝜋𝑟ଷ

𝑉 =
4

3
⎯⎯(3.14)(5)ଷ

𝑉 = 523.6 𝑘𝑚ଷ

𝑉 =
100

3
⎯⎯⎯ 𝜋 𝑘𝑚ଷ

𝑆𝐴 = 4𝜋𝑟ଶ

𝑆𝐴 = 4(3.14)(5)ଶ

𝑆𝐴 = 314 𝑘𝑚ଶ

𝑆𝐴 = 100𝜋 𝑘𝑚ଶ

Terms of Pie

Terms of Pie

Terms of Pie
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